

A Note on the Paper "On Hua-Wang Type Inequalities"*

Wang Jianyong

(Dept of Electronics, The Second Northwest Institute for Nationalities, Yinchuan 750021)

Abstract In this paper, we point out a fault in Theorem B in [1], generalize Hua-Wang type inequalities given by Theorem A in [1], and prove them by using elementary mean value inequalities. It also makes the improved Theorem B its corollary.

Keywords: Hua-Wang type inequalities, mean value inequalities

Classification: AMS(1991) 26D15/CLC O178.1

Document code: A **Article ID:** 1000-341X(1999)Supp-0189-07

1. Introduction

Let δ, a be given positive numbers, $p \in (0, 1)$ be a real number,

$$\Omega = \{x \mid x_1 \geq 0, \dots, x_n \geq 0, x_1 + \dots + x_n \leq \delta\},$$

$$\Omega_1 = \{x \mid x_1 > 0, \dots, x_n > 0, x_1 + \dots + x_n \leq \delta\},$$

$$F_n(x) = (\delta - \sum_{i=1}^n x_i)^p + a^{p-1} \sum_{i=1}^n x_i^p, \quad (1)$$

$$k_n = a/(n+a), \quad h_n = 1/(n+a).$$

Paper [1] generalized the inequality

$$(\delta - x_1 - \dots - x_n)^2 + a(x_1^2 + \dots + x_n^2) \geq k_n \delta^2 \quad (p = 2) \quad (2)$$

(the equality holds if and only if $x_1 = \dots = x_n = h_n \delta$) given by Prof. L. K. Hua in [2] and the others given by Prof. Wang Chunglie in [3], and by using the majorization and dynamic programming gave the following two results (be called by a joint name Hua-Wang type inequalities):

* Received date: 1997-03-03

Biography: Wang Jianyong (1956-), male, born in Jingning county, Gansu province. M. Sc. Currently an associate professor at the Second Northeast Institute for Nationalities

Theorem A Let δ, a be given positive numbers, then for $p > 1$ ($p < 0$), $x \in \Omega(\Omega_i)$ we have

$$F_n(x) \geq k_n^{p-1} \delta \quad (3)$$

when $0 < p < 1$, the equality (3) reverses the direction. Under every circumstance, the equality holds if and only if $x_1 = \dots = x_n = h_n \delta$.

Theorem B Let δ be a given positive number, then for $p > 1$ ($p < 0$), $x \in \Omega(\Omega_i)$ we have

$$2^{1-p} \delta^p \leq (\delta - x_1 - \dots - x_n)^p + n^{p-1} (x_1^p + \dots + x_n^p) \leq n^{p-1} \delta^p; \quad (4)$$

when $0 < p < 1$, the equality (4) reverses the direction. Under every circumstance, the left equality holds if and only if $x_1 = \dots = x_n = \delta/(2n)$; the right one holds if and only if

$$x = \Delta_i = (\overbrace{0, 0, \dots, \delta, 0, \dots, 0}^i) \quad (1 \leq i \leq n).$$

Here we first point out that for $p < 0$, the conclusion of Theorem B is not true. Because

$$\lim_{\substack{x_i \rightarrow 0 \\ x \in \Omega_1}} [(\delta - x_1 - \dots - x_n)^p + n^{p-1} (x_1^p + \dots + x_n^p)] = +\infty,$$

the second half of (4) is not true in Ω_i ; $x = \Delta_i \notin \Omega_i$, the function has no meaning at Δ_i , so the equality can not hold at the point. The other conclusions of Theorem B are true except for this circumstance.

The main task we will deal with in this paper is to generalize the Theorem A. We will try to prove the generalized Theorem by avoiding the tools of majorization or dynamic programming but using elementary mean value inequalities. As a result, we make the improved Theorem B its corollary.

2 Generalization of Hua-Wang Type Inequalities

Lemma Let $b_i \geq 0$, $\sum_{i=1}^n b_i = 1$, then

(I) when $p > 1$, we have

$$n^{1-p} \leq \sum_{i=1}^n b_i^p \leq 1; \quad (5)$$

(II) when $p < 0$, we have

$$n^{1-p} \leq \sum_{i=1}^n b_i^p < +\infty \quad (\text{here } b_i > 0); \quad (6)$$

(III) when $0 < p < 1$, we have

$$1 \leq \sum_{i=1}^n b_i^p \leq n^{1-p}. \quad (7)$$

The left equalities in (5), (6) and the right one in (7) hold if and only if $b_1 = \dots = b_n = 1/n$; the right equality in (5) and the left one in (7) hold if and only if $b = \Delta_i(1) = (0, \dots, 0, 1, 0, \dots, 0)$ ($1 \leq i \leq n$); when $p < 0$, $\lim_{b_i \rightarrow 0} \sum_{i=1}^n b_i^p = +\infty$.

Proof Let $a = (a_1, \dots, a_n)$ be a nonnegative sequence, $q = (q_1, \dots, q_n)$ be a positive number weight sequence with $\sum_{i=1}^n q_i = 1$, let $r \geq 0$ be a real number. Now let us consider the r -power weighted means of a

$$M_r(a, q) = \left(\sum_{i=1}^n q_i a_i^r \right)^{1/r}.$$

From [4], for each pair of numbers $r < s$, we have

$$M_r(a, q) \leq M_s(a, q), \quad (8)$$

and the equality holds if and only if $a_1 = \dots = a_n$. Hence

$$G(a, q) = M_0(a, q) \leq M_1(a, q) = H(a, q), \quad (9)$$

where

$$G(a, q) = M_0(a, q) = \lim_{r \rightarrow 0} M_r(a, q) = \prod_{i=1}^n a_i^{q_i}$$

is geometric mean, and $H(a, q) = M_1(a, q) = \sum_{i=1}^n q_i a_i$ is algebraic mean.

Now when $p > 1$,

$$\frac{1}{n} = \sum_{i=1}^n \frac{1}{n} b_i = M_1(b, \{\frac{1}{n}\}) \leq M_p(b, \{\frac{1}{n}\}) = \left(\sum_{i=1}^n \frac{1}{n} b_i^p \right)^{1/p},$$

we get

$$n^{1-p} \leq \sum_{i=1}^n b_i^p \leq \sum_{i=1}^n b_i = 1,$$

and the left equality holds if and only if $b_1 = \dots = b_n = 1/n$, the right one holds if and only if $b = \Delta_i(1)$ ($1 \leq i \leq n$). When $p < 0$, $-p > 0$, using (8), (9) we have

$$\begin{aligned} n &= 1 / \sum_{i=1}^n \frac{1}{n} b_i = 1/H(b, \{\frac{1}{n}\}) \leq 1/G(b, \{\frac{1}{n}\}) \\ &= G(\{\frac{1}{b_i}\}, \{\frac{1}{n}\}) \leq M_{-p}(\{\frac{1}{b_i}\}, \{\frac{1}{n}\}) = \left(\sum_{i=1}^n \frac{1}{n} b_i^p \right)^{-1/p}, \end{aligned}$$

then $n^{1-p} \leq \sum_{i=1}^n b_i^p$, and the equality holds if and only if $b_1 = \dots = b_n = 1/n$. Then we have inequality (6). Using the similar methods, we can prove the inequality (7).

Theorem Let δ, a be given positive numbers, then we have

(I) when $p > 1$,

$$k_n^{p-1} \delta \leq F_n(x) \leq s^{p-1} (a) \delta, \quad x \in \Omega, \quad (10)$$

(II) when $p < 0$,

$$k_n^{p-1} \delta \leq F_n(x) < +\infty, \quad x \in \Omega_n, \quad (11)$$

(III) when $0 < p < 1$,

$$s^{p-1}(a) \delta \leq F_n(x) \leq k_n^{p-1} \delta, \quad x \in \Omega, \quad (12)$$

where

$$s(a) = \begin{cases} a, & a \geq 1, \\ 1, & 0 < a < 1. \end{cases}$$

The left equalities in (10), (11) and the right one in (12) hold if and only if $x_1 = \dots = x_n = h_n \delta$, the right equality in (10) and the left one in (12) hold if and only if $x = \Delta_i(\delta) = (\underbrace{0, \dots, 0}_{i}, 0, 0, 0, \dots, 0)$ for $a \geq 1$ ($1 \leq i \leq n$) or $x = (0, \dots, 0)$ for $0 < a < 1$. When $p < 0$, $\lim_{x \rightarrow \Omega_1} x_i + 0 F_n(x) = +\infty$.

Proof Each element x of $\Omega(\Omega_n)$ can be expressed as $x = tb$, $t \in [0, \delta]$ (relatively $t \in (0, \delta]$), where $b = (b_1, \dots, b_n)$ is a direction factor with $b_i \geq 0$ (relatively $b_i > 0$) and $\sum_{i=1}^n b_i = 1$. In the direction b ,

$$F_n(x) = F_n(tb) = f_b(t) = (\delta - t)^p + a^{p-1} \sum_{i=1}^n b_i^p t^p, \quad (13)$$

$$f_b(t) = p [a^{p-1} \sum_{i=1}^n b_i^p t^{p-1} - (\delta - t)^{p-1}], \quad (14)$$

$$f_b(t) = 0 \Leftrightarrow t = t(b) = \delta / [1 + a (\sum_{i=1}^n b_i^p)^{\frac{1}{p-1}}]$$

when $p > 1$ or $p < 0$,

$$\begin{cases} f_b(t) > 0 \Leftrightarrow t > t(b), \\ f_b(t) < 0 \Leftrightarrow t < t(b), \end{cases} \quad (15)$$

when $0 < p < 1$,

$$\begin{cases} f_b(t) > 0 \Leftrightarrow t < t(b), \\ f_b(t) < 0 \Leftrightarrow t > t(b), \end{cases} \quad (16)$$

When $p > 1$ or $p < 0$, in the direction b , $F_n(x) = f_b(t)$ has the minimum

$$g(b) = f_b(t(b)) = \delta^p [a (\sum_{i=1}^n b_i^p)^{\frac{1}{p-1}} / (1 + a (\sum_{i=1}^n b_i^p)^{\frac{1}{p-1}})]^{p-1},$$

which implies that

$$f_b(t) \geq f_b(t(b)) = g(b), \quad t \in [0, \delta] \text{ (relatively } t \in (0, \delta]), \quad (17)$$

the equality holds if and only if $t = t(b)$. Because for $r \in (0, -1)$, the function

$$U(x) = [ax^{\frac{1}{r}} / (1 + ax^{\frac{1}{r}})]^r, \quad x > 0,$$

is strictly monotone increasing, using the inequality $n^{1-p} \leq \sum_{i=1}^n b_i^p$ in (5), (6) we have

$$g(b) \geq \delta^p [a(n^{1-p})^{\frac{1}{p-1}} / (1 + a(n^{1-p})^{\frac{1}{p-1}})]^{p-1} = k_n^{p-1} \delta^p, \quad (18)$$

the equality holds if and only if $b = b_0 = (1/n, \dots, 1/n)$. Using (17), (18) we have for $p > 1$ ($p < 0$), $x \in \Omega(\Omega_1)$,

$$F_n(x) = f_b(t) \geq g(b) \geq g(b_0) = F_n(x_0) = k_n^{p-1} \delta^p, \quad (19)$$

where $x_0 = t(b_0)b_0 = (\delta/(n+a), \dots, \delta/(n+a))$, the equality holds if and only if $x = x_0$ or $x_1 = \dots = x_n = h_n \delta$. So the left inequalities in (10), (11) hold

When $p > 1$, in the direction b , the maximum of $f_b(t)$ can only appear at some end of the interval $[0, \delta]$. If $a \geq 1$, using the right inequality $\sum_{i=1}^n b_i^p \leq 1$ in (5), we have

$$\begin{aligned} f_b(\delta) &= a^{p-1} \sum_{i=1}^n b_i^p \delta^p \leq a^{p-1} \delta^p = s^{p-1}(a) \delta^p, \\ f_b(0) &= \delta^p \leq a^{p-1} \delta^p = s^{p-1}(a) \delta^p, \end{aligned}$$

which implies that

$$F_n(x) = f_b(t) \leq s^{p-1}(a) \delta^p, \quad x \in \Omega, \quad (20)$$

the equality holds if and only if $t = \delta$, $b = \Delta_i(1)$ or $x = \delta \Delta_i(1) = \Delta_i(\delta)$ ($1 \leq i \leq n$). If $0 < a < 1$, then

$$\begin{aligned} f_b(\delta) &= a^{p-1} \sum_{i=1}^n b_i^p \delta^p < \delta^p = s^{p-1}(a) \delta^p, \\ f_b(0) &= \delta^p = s^{p-1}(a) \delta^p, \end{aligned}$$

we also have the inequality

$$F_n(x) = f_b(t) \leq s^{p-1}(a) \delta^p, \quad x \in \Omega, \quad (21)$$

but now the equality holds if and only if $t = 0$ or $x = 0$, $b = (0, \dots, 0)$. Now we have proved the inequality (10).

When $p < 0$, it is obvious that

$$\lim_{\substack{x_i \rightarrow +0 \\ x \in \Omega_1}} F_n(x) = +\infty. \quad (22)$$

From (19) and (22), the inequality (11) holds

When $0 < p < 1$, using the inequality (16) and (7) in the lemma, we can similarly prove the inequality (12). This completes the proof

Now that we have the comparatively general results, when $a = n$, we can get the improved form of Theorem B:

Corollary 1 Let $\delta > 0$, then the function

$$G_n(x) = (\delta - \sum_{i=1}^n x_i)^p + n^{p-1} \sum_{i=1}^n x_i^p$$

satisfies

(I) when $p > 1$,

$$2^{1-p} \delta^p \leq G_n(x) \leq n^{p-1} \delta^p, \quad x \in \Omega, \quad (23)$$

(II) when $p < 0$,

$$2^{1-p} \delta^p \leq G_n(x) < +\infty, \quad x \in \Omega_i, \quad (24)$$

(III) when $0 < p < 1$,

$$n^{p-1} \delta^p \leq G_n(x) \leq 2^{1-p} \delta^p, \quad x \in \Omega \quad (25)$$

The left equalities in (23), (24) and the right one in (25) hold if and only if $x_1 = \dots = x_n = \delta/2n$, the right equality in (23) and the left one in (25) hold if and only if $x = \Delta_i(\delta)$ ($1 \leq i \leq n$).

When $p < 0$, $\lim_{x \rightarrow 0} G_n(x) = +\infty$.

Let $\delta, a > 0, p > 0, 1$ again, but

$$\Omega^* = \{x \mid x_i \geq 0, \sum_{i=1}^n x_i \leq \delta\}, \quad \Omega_i^* = \{x \mid x_i > 0, \sum_{i=1}^n x_i \leq \delta\}$$

$$F(x) = (\delta - \sum_{i=1}^n x_i)^p + a^{p-1} \sum_{i=1}^n x_i^p,$$

(where we assume that $\sum_{i=1}^n x_i^p$ is convergent) From the Theorem that we got just now, let $n \rightarrow +\infty$, we have

Corollary 2 Let $\delta, a > 0$, then

(I) when $p > 1$,

$$0 < F(x) \leq s^{p-1}(a) \delta^p, \quad x \in \Omega^*; \quad (26)$$

(II) when $p < 0$,

$$F(x) = +\infty, \quad x \in \Omega_i^*; \quad (27)$$

(III) when $0 < p < 1$,

$$s^{p-1}(a) \delta^p \leq F(x) < +\infty, \quad x \in \Omega^*. \quad (28)$$

The right equality in (26) and the left one in (28) hold if and only if $x = \Delta_i^*(\delta) = (\overbrace{0, \dots, 0, \delta, 0, \dots}^i) (1 \leq i < +\infty)$. Let $x^n = (\overbrace{\delta/(n+a), \dots, \delta/(n+a), 0, \dots}^n) \in \Omega^*$, when $p > 1$, $\lim_n F(x^n) = 0$; when $0 < p < 1$, $\lim_n F(x^n) = +\infty$.

Acknowledgment We would like to thank Prof. Hou Xiangqian for his help.

References

[1] Wang W anlan. On Hua- Wang type inequalities [J]. J. Math. Res. and Expo., 1996, 16(3): 467-470

- [2] Hua L. K. *Additive theory of prime numbers* (Translated by N. B. Ng), in "Translations of Mathematical Monographs" [C]. Amer. Math. Soc. Providence, RI, 1965, 13.
- [3] Wang Chunglie. *Ló-Keng Hua inequality and dynamic programming* [J]. *J. Math. Anal. Appl.*, 1992, 166: 345-350.
- [4] Hsu L. C. Wang Xinghua. *The Methods and Selected Examples in Mathematical Analysis* [M]. Higher Education Press, Beijing, 1983, 131-136.

关于“华罗庚-王中烈型不等式”一文的注记

王见勇

(西北第二民族学院电子系, 宁夏银川750021)

摘 要

指出了[1]的定理2中的一个错误, 推广了[1]中定理1给出的华罗庚-王中烈型不等式, 避开控制不等式与动态规划模型等专门工具, 改用较为初等的平均值不等式证明之, 使改正后的[1]中的定理2成其推论